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Question 1
Question Type: MultipleChoice

Complete the sentence. As the architecture evolves, the assets in the Solutions Continuum progress towards a (n) _____

Options: 
A- Common Systems Architecture

B- Industry Specific Architecture

C- Foundation Solution

D- Organization Specific Solution

E- Technology Neutral Implementation

Answer: 
D

Question 2
Question Type: MultipleChoice



Which one of the following is the most generic artifact in the Architecture Continuum?

Options: 
A- Common Systems Architecture

B- Foundation Architecture

C- Industry Architecture

D- Organization Specific Architecture

E- Product Line Architecture

Answer: 
B

Question 3
Question Type: MultipleChoice

What class of architectural information within the Architecture Repository defines processes that support governance of the Architecture

Repository?



Options: 
A- Architecture Capability

B- Architecture Landscape

C- Architecture Metamodel

D- Governance Log

E- Reference Library

Answer: 
A

Question 4
Question Type: MultipleChoice

Complete the sentence. According to TOGAF, the simplest way of thinking about the Enterprise Continuum is as a _____

Options: 



A- Configuration Database

B- library of architecture artifacts

C- Requirements Management System

D- Standards Information Base

E- view of the Architecture Repository

Answer: 
E

Question 5
Question Type: MultipleChoice

Complete the sentence. The Integrated Information Infrastructure Reference Model (III-RM) is an example of a (n) ______ Architecture

reference model

Options: 
A- Application



B- Business

C- Data

D- Technology

Answer: 
A

Question 6
Question Type: MultipleChoice

Which of the following is a true statement about the TOGAF Technical Reference Model?

Options: 
A- The TOGAF Architecture Development Method mandates the use of the Technical Reference Model for large complex architecture

projects

B- The Technical Reference Model is an integral part of the TOGAF Architecture Development Method

C- The Technical Reference Model should not be modified



D- The Technical Reference Model includes a set of graphical models and a corresponding taxonomy

E- The Technical Reference Model provides a direct mapping to the Zachman Framework

Answer: 
D

Question 7
Question Type: MultipleChoice

According to TOGAF, who usually initiates a Request for Architecture Work?

Options: 
A- The architecture organization

B- The CIO/CTO

C- The corporate governance board

D- The senior management

E- The sponsoring organization



Answer: 
E

Question 8
Question Type: MultipleChoice

According to TOGAF, which of the following best describes the purpose of the Architecture Definition Document?

Options: 
A- An agreement between development partners and sponsors on the deliverables

B- A description to allow measurement of the compliance of the implementation

C- A description to communicate the intent of the architect

D- A document that triggers the start of an architecture development cycle

E- A set of general rules and guidelines

Answer: 
C



Question 9
Question Type: MultipleChoice

Which pair of the following responses best completes the sentence? Architecture building blocks

____, whereas Solution Building blocks ____

Options: 
A- are assembled; are single function components

B- are single function components; are groups of architecture building blocks

C- are reusable; are not reusable

D- define the architecture; provide the existing legacy system

E- define functionality; define the implementation of functionality

Answer: 
E
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